

County Distribution Detail Report through 06/30/2021

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,172	1,911	13	3,096	\$3,870.00	\$140.71	\$3,729.29	0.70	\$2,610.50
							Entity Tota	ıl•	\$2,610.50
							_		
							Adjustmen		\$0.00
							Total Amor	unt:	\$2,610.50
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	3,407	10,398	265	14,070	\$17,587.50	\$374.14	\$17,213.36	0.70	\$12,049.35
							Entity Tota	ıl:	\$12,049.35
							Adjustmen	it:	\$0.00
							Total Amou	unt:	\$12,049.35
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	884	1,190	5	2,079	\$2,598.75	\$59.69	\$2,539.06	0.70	\$1,777.34
							Entity Tota	ıl:	\$1,777.34
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,777.34
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,743	3,933	14	5,690	\$7,112.50	\$143.15	\$6,969.35	0.70	\$4,878.55
							Entity Tota	ıl:	\$4,878.55
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,878.55

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	10,354	21,265	190	31,809	\$39,761.25	\$836.97	\$38,924.28	0.70	\$27,247.00
							Entity Tot	al:	\$27,247.00
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$27,247.00
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	8,835	26,004	576	35,415	\$44,268.75	\$961.09	\$43,307.66	0.70	\$30,315.36
							Entity Tot	al:	\$30,315.36
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$30,315.36
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,098	3,650	49	5,797	\$7,246.25	\$146.98	\$7,099.27	0.70	\$4,969.49
							Entity Tot	al:	\$4,969.49
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,969.49
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	530	446	3	979	\$1,223.75	\$25.73	\$1,198.02	0.70	\$838.61
							Entity Tot	al:	\$838.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$838.61
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,220	6,464	40	8,724	\$10,905.00	\$235.79	\$10,669.21	0.70	\$7,468.45
							Entity Tot	al:	\$7,468.45
							Adjustme	nt:	\$0.00

							Total Amou	ınt:	\$7,468.45
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	655	1,378	11	2,044	\$2,555.00	\$52.65	\$2,502.35	0.70	\$1,751.65
							Entity Tota	l:	\$1,751.65
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,751.65
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,464	5,429	21	7,914	\$9,892.50	\$201.05	\$9,691.45	0.70	\$6,784.02
							Entity Tota	l:	\$6,784.02
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$6,784.02
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	76	2,841	106	3,023	\$3,778.75	\$95.07	\$3,683.68	0.70	\$2,578.58
							Entity Total	l:	\$2,578.58
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,578.58
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	642	2,775	122	3,539	\$4,423.75	\$107.08	\$4,316.67	0.70	\$3,021.67
							Entity Tota	l:	\$3,021.67
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,021.67
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

5/2021 3,345 11,230 214 14,789 \$18,486.25 \$380.32 \$18,105.93 0.70 \$12,674.15 Entity Total: \$12,674.15

Percent

							Adjustmer	nt:	\$0.00
							Total Amo		\$12,674.15
City of Sioux Falls,	Lincoln						Total Allio	ount.	\$12,074.13
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	4,486	26,123	2,513	33,122	\$41,402.50	\$859.00	\$40,543.50	0.70	\$28,380.45
							Entity Tota	al:	\$28,380.45
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,380.45
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,226	2,248	40	3,514	\$4,392.50	\$90.60	\$4,301.90	0.70	\$3,011.33
							Entity Tota	al:	\$3,011.33
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$3,011.33
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,602	7,585	270	9,457	\$11,821.25	\$251.12	\$11,570.13	0.70	\$8,099.09
							Entity Tota	al:	\$8,099.09
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$8,099.09
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	6,606	18,810	779	26,195	\$32,743.75	\$696.08	\$32,047.67	0.70	\$22,433.37
							Entity Tota	al:	\$22,433.37
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$22,433.37
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$2,451.02

\$51.48

0.70

\$1,715.71

5/2021

1,019

685

298

2,002

\$2,502.50

							,		4 - 4 - 4
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,715.71
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	3,178	5,803	41	9,022	\$11,277.50	\$253.17	\$11,024.33	0.70	\$7,717.03
							Entity Tota	al:	\$7,717.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,717.03
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	4,484	13,878	325	18,687	\$23,358.75	\$486.55	\$22,872.20	0.70	\$16,010.54
							Entity Tota	al:	\$16,010.54
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$16,010.54
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,883	3,415	35	5,333	\$6,666.25	\$135.60	\$6,530.65	0.70	\$4,571.46
							Entity Tota	al:	\$4,571.46
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$4,571.46
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,604	2,868	65	4,537	\$5,671.25	\$122.89	\$5,548.36	0.70	\$3,883.85
							Entity Tota	al:	\$3,883.85
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$3,883.85
Douglas									

Entity Total:

\$1,715.71

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,130	2,192	9	3,331	\$4,163.75	\$86.82	\$4,076.93	0.70	\$2,853.85
							Entity Tota	al:	\$2,853.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,853.85
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,189	2,859	38	4,086	\$5,107.50	\$103.44	\$5,004.06	0.70	\$3,502.84
							Entity Tota	al:	\$3,502.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,502.84
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,802	4,539	46	7,387	\$9,233.75	\$189.24	\$9,044.51	0.70	\$6,331.16
							Entity Tota	al:	\$6,331.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,331.16
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	698	1,453	14	2,165	\$2,706.25	\$55.28	\$2,650.97	0.70	\$1,855.68
							Entity Tota	al:	\$1,855.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,855.68
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,890	5,220	40	7,150	\$8,937.50	\$182.91	\$8,754.59	0.70	\$6,128.21
							Entity Tota	al:	\$6,128.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,128.21

Ciogory										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2021	1,572	3,524	5	5,101	\$6,376.25	\$141.32	\$6,234.93	0.70	\$4,364.45	
							Entity Tota	al:	\$4,364.45	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$4,364.45	
Haakon										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2021	961	1,324	5	2,290	\$2,862.50	\$57.79	\$2,804.71	0.70	\$1,963.30	
							Entity Tota	al:	\$1,963.30	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$1,963.30	
Hamlin										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2021	1,484	3,726	26	5,236	\$6,545.00	\$132.04	\$6,412.96	0.70	\$4,489.07	
							Entity Tota	al:	\$4,489.07	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$4,489.07	
Hand										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2021	978	2,575	28	3,581	\$4,476.25	\$95.37	\$4,380.88	0.70	\$3,066.62	
							Entity Tota	al:	\$3,066.62	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$3,066.62	
Hanson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2021	792	3,057	28	3,877	\$4,846.25	\$98.57	\$4,747.68	0.70	\$3,323.38	
							Entity Tota	al:	\$3,323.38	
							Adjustmer	nt:	\$0.00	

Total Amount:	\$3,323.38
Total Alliount.	ಫ 3,3 2 3.30

9									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	649	828	2	1,479	\$1,848.75	\$47.71	\$1,801.04	0.70	\$1,260.73
							Entity Tota	al:	\$1,260.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,260.73
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	587	2,974	173	3,734	\$4,667.50	\$148.61	\$4,518.89	0.70	\$3,163.22
							Entity Tota	al:	\$3,163.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,163.22
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,685	5,093	54	7,832	\$9,790.00	\$211.41	\$9,578.59	0.70	\$6,705.01
							Entity Tota	al:	\$6,705.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,705.01
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	572	1,048	4	1,624	\$2,030.00	\$41.30	\$1,988.70	0.70	\$1,392.09
							Entity Tota	al:	\$1,392.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,392.09
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	588	835	4	1,427	\$1,783.75	\$36.10	\$1,747.65	0.70	\$1,223.36

							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,223.36
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	769	1,273	7	2,049	\$2,561.25	\$51.60	\$2,509.65	0.70	\$1,756.76
							Entity Tota	l:	\$1,756.76
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,756.76
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	514	645	5	1,164	\$1,455.00	\$29.35	\$1,425.65	0.70	\$997.96
							Entity Tota	l:	\$997.96
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$997.96
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,076	3,905	47	5,028	\$6,285.00	\$140.59	\$6,144.41	0.70	\$4,301.09
							Entity Tota	l:	\$4,301.09
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,301.09
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,489	8,888	89	11,466	\$14,332.50	\$295.27	\$14,037.23	0.70	\$9,826.06
							Entity Tota	l:	\$9,826.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$9,826.06
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:

\$1,223.36

5/2021	7,091	17,150	227	24,468	\$30,585.00	\$636.67	\$29,948.33	0.70	\$20,963.83
							Entity Tota	l:	\$20,963.83
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$20,963.83
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	3,434	23,349	1,939	28,722	\$35,902.50	\$830.35	\$35,072.15	0.70	\$24,550.51
							Entity Tota	l:	\$24,550.51
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$24,550.51
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,006	1,785	286	3,077	\$3,846.25	\$84.22	\$3,762.03	0.70	\$2,633.42
							Entity Tota	l:	\$2,633.42
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,633.42
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,463	2,876	28	4,367	\$5,458.75	\$117.02	\$5,341.73	0.70	\$3,739.21
							Entity Tota	l:	\$3,739.21
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,739.21
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,912	4,177	18	6,107	\$7,633.75	\$154.84	\$7,478.91	0.70	\$5,235.24
							Entity Tota	l:	\$5,235.24
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,235.24
McPherson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	911	1,499	4	2,414	\$3,017.50	\$71.61	\$2,945.89	0.70	\$2,062.12
							Entity Tota	ıl:	\$2,062.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,062.12
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	3,050	18,176	184	21,410	\$26,762.50	\$572.49	\$26,190.01	0.70	\$18,333.01
							Entity Tota	ıl:	\$18,333.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,333.01
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	544	699	0	1,243	\$1,553.75	\$31.18	\$1,522.57	0.70	\$1,065.80
							Entity Tota	ıl:	\$1,065.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,065.80
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	942	1,596	14	2,552	\$3,190.00	\$67.73	\$3,122.27	0.70	\$2,185.59
							Entity Tota	ıl:	\$2,185.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,185.59
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	38,097	151,642	5,050	194,789	\$243,486.25	\$5,251.96	\$238,234.29	0.70	\$166,764.00
							Entity Tota	ıl:	\$166,764.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$166,764.00

,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,144	4,588	63	5,795	\$7,243.75	\$147.73	\$7,096.02	0.70	\$4,967.21
							Entity Tot	al:	\$4,967.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,967.21
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	23,024	82,232	2,384	107,640	\$134,550.00	\$2,895.23	\$131,654.77	0.70	\$92,158.34
							Entity Tot	al:	\$92,158.34
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$92,158.34
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,661	2,209	11	3,881	\$4,851.25	\$107.40	\$4,743.85	0.70	\$3,320.70
							Entity Tot	al:	\$3,320.70
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,320.70
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,043	1,793	9	2,845	\$3,556.25	\$71.87	\$3,484.38	0.70	\$2,439.07
							Entity Tot	al:	\$2,439.07
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,439.07
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	3,140	5,118	16	8,274	\$10,342.50	\$228.71	\$10,113.79	0.70	\$7,079.65
							Entity Tot	al:	\$7,079.65
							Adjustme	nt:	\$0.00

							Total Amount:		\$7,079.65
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	737	1,748	10	2,495	\$3,118.75	\$63.08	\$3,055.67	0.70	\$2,138.97
							Entity Tota	al:	\$2,138.97
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,138.97
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,724	4,471	48	6,243	\$7,803.75	\$161.08	\$7,642.67	0.70	\$5,349.87
							Entity Tota	al:	\$5,349.87
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$5,349.87
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	676	2,147	42	2,865	\$3,581.25	\$75.95	\$3,505.30	0.70	\$2,453.71
							Entity Tota	al:	\$2,453.71
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,453.71
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	567	1,138	5	1,710	\$2,137.50	\$43.42	\$2,094.08	0.70	\$1,465.86
							Entity Tota	al:	\$1,465.86
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,465.86
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

107

1

\$133.75

\$13.05

\$120.70

0.70

\$84.49

5/2021

106

0

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$84.49
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,155	3,935	44	6,134	\$7,667.50	\$157.12	\$7,510.38	0.70	\$5,257.27
							Entity Tota	al:	\$5,257.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,257.27
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,960	6,257	19	8,236	\$10,295.00	\$208.91	\$10,086.09	0.70	\$7,060.26
							Entity Tota	al:	\$7,060.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,060.26
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	2,603	10,956	240	13,799	\$17,248.75	\$420.69	\$16,828.06	0.70	\$11,779.64
							Entity Tota	al:	\$11,779.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,779.64
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	1,794	3,445	218	5,457	\$6,821.25	\$138.92	\$6,682.33	0.70	\$4,677.63
							Entity Tota	al:	\$4,677.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,677.63
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:

\$84.49

5/2021	4,704	16,023	495	21,222	\$26,527.50	\$563.90	\$25,963.60	0.70	\$18,174.52
							Entity Total:		\$18,174.52
							Adjustment:		\$0.00
							Total Amount:		\$18,174.52
Totals	193,320	605,402	17,974	816,696	1,020,870	\$ 21,966.76	\$ 998,903.24		